Serie CG04

DOUBLE ACTING MAGNETIC SLIDE CYLINDER
ZYLINDER DOPPELTWIRKEND MAGNETISCH MIT SCHIEBETISCH

VERIN DOUBLE EFFET MAGNETIQUE AVEC TABLE LINEAIRE
CILINDROS COMPACTOS GUIADOS CON MESA DE DESLIZAMIENTO
CILINDROS DUPLA ACAO MAGNETICO COM MESA DESLIZANTEQUONTE AUCONSUNTEM MENICA ORE PUBLICATUS,

CARATTERISTICHE TECNICHE
TECHNICAL CHARACTERISTICS
TECHNISCHE ANGABEN

CARACTERISTIQUES TECHNIQUES

CARACTERISTICAS TECNICAS
CARACTERISTICAS TECNICAS

i 1907/2006
REACHY"

Materiali

Corpo: Lega alluminio
Piastra: Acciaio
Guarnizioni: NBR
Magnete: Plastoferrite

Matériaux

2011/65/CE

Corps : Alliage d'alluminium

Plaque : Acier
Joints : NBR
Aimant : Plastoferrite

Pressioni

Pressures

Druckbereich

Pressions

Presiones

Pressoes

Materiales

Materiais

Cuerpo: Aleacién de aluminio
Placa: Acero

Juntas: NBR

Magnete: Plastoferrita

1,5 bar (0.15 MPa)
7 bar (0.7 MPa)

Alesaggi

Bores

Durchmesser

Diameétres

Didmetros

Diametros

6-8-12-16-20-25 mm

Temperature

Corpo: Liga de aluminio

Placa: Aco
Vedagoes: NBR

Magnético: Plastoferrite

Fluidi compatibili

Temperatures

Temperatur

Fluids

Avria (Lubrificazione non necessaria).

Températures

Temperaturas

Air (Lubrication not necessary).

Geeignete Medien

Temperaturas

-5 °C (No freezing)
i 4+60°C

Range velocita

Luft (Schmierung nicht erforderlich).

Fluides compatibles

Air (Lubrification pas nécessaire).

Fluidos compatibles

Aire (Lubrificacién no necesaria).

Fluidos compativeis

Speed range

Verfiigbarer Geschwindigkeitsbereich

Plage de vitesse disponible

Rango velocidad

Range de velocidades

50 mm/sec
© 500 mm/sec

: Ar(Lubrificagdo ndo necessdria).

ApxaHrenbck (8182)63-90-72
AcTtana (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsiHck  (4832)59-03-52
BnaguBocTok (423)249-28-31
Bonrorpaa (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTtepuHGypr (343)384-55-89
WBaHoBoO (4932)77-34-06

WkeBck (3412)26-03-58

WpkyTck (395)279-98-46
Kasanb (843)206-01-48

Kanunuurpap (4012)72-03-81

Kanyra (4842)92-23-67

KemepoBo (3842)65-04-62

KupoB (8332)68-02-04

KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61

Kypek (4712)77-13-04

Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck  (8152)59-64-93
Hab6epexHble YenHbl (8552)20-53-41
HwxHui Hoeropop (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
Kasaxcran (772)734-952-31

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CraBpononb (8652)20-65-13
TapxukucTaH (992)427-82-92-69

https://aignep.nt-rt.ru/ || afp@nt-rt.ru

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TioMeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
ApocnaBnb (4852)69-52-93


https://aignep.nt-rt.ru/
mailto:afp@nt-rt.ru

mm

12
16
20
25

Peso cilindro

Cylinder Weight Stroke

Zylinder Gewicht o 6 8 12

Poids du vérin 10 89 155 360

Peso Cilindro 20 110 166 362

Peso do Cilindro 30 122 201 369
40 161 246 425
50 199 281 529
75 -394 72
100 - - 960
125 - - -
150 - - -

Regolazione corsa cilindro i AS  Regolazione andata

Cylinder stroke regulation Durchflusseinstellung
) ) Réglage de sorti
Zylinder Hubeinstellung Rigf,gﬁ,éﬁ §i’,§,{£,
Ajuste de avango

Réglage de la course du vérin :
. AT

Adjuster at extension end

20
1050
1060
1092
1145
1320
1815
2365
2880
3368

25
1636
1650
1673
1797
1989
2713
3260
4260
4530

(Unit: g)

\

Serie CG04

Sensori consigliati
Sensors recommended
Empfohlene Sensoren
Capteurs recommandés
Sensores recomendados
Sensores aconselhados

DCO01 RM8
DCO01 R2M

DC 03 PM8
DC03 P2M

DC 04 PM8
DC 04 P2M

Adjuster at retraction end

Regolazione ritorno Adjuster at extension end
Regulacion carrera cilindro Adjuster at retraction end
Reaul d do cilind Riickschubeinstellung
egulagem de curso do cilindro Réglage de rentrée -
Regulacién retorno EY EY &
0+-5mm Ajuste de retorno
- ~®+0 0]
& & Ad
. L Pressione di lavoro
@ Stelo Area pistone Direzione Operating pressure
Piston rod Piston area Direction Betriebsdruck
Kolbenstange Schubfiiche Richtung P S
Cylinder ?'lge Surfac? de pleOnA D{recr{(zln Presion de trabajo
Vdstago Superficie de empuje Direccién Pressdo de operagdo
Haste Area de avango Diregao Bar
mm mm?
2 3 4 5 6 7
6 3 57 IN (N) 11 17 23 29 34 40
42 OUT (N) 8 13 17 21 25 29
3 4 101 IN (N) 20 30 40 51 61 71
75 OUT (N) 15 23 30 38 45 53
R 6 226 IN (N) 45 68 90 113 136 158
170 OUT (N) 34 51 68 85 102 119
16 8 402 IN (N) 80 121 161 201 241 281
302 OUT (N) 60 91 121 151 181 211
20 10 628 IN (N) 126 188 251 314 377 400
471 OUT (N) 94 141 188 236 283 330
5 12 982 IN (N) 196 295 393 491 589 687
756 OUT (N) 151 227 302 378 454 529
(Unit: N)
Tabella dei codici di ordinazione e
. Stroke
Ordering codes o Hub
.. C
Bestellschliissel SEE mm e
Curso
Code de commande
mm
Tabla de codificacién para pedidos
Tabela de codificagdo para compra P N p N p N
C G 0 4 (0 o0 6/ 0 0 1 o0
006 0010
008 0020
012 0030
016 0040
020 0050
Corse - Strokes - Hub - Courses - Carreras - Cursos 025 0075
mm 0100
0 20 3 40 50 75 100 125 150 0125
0150
A A A A A Arichiesta corse intermedie o superiori.
Intermediate or higher strokes are available upon request.
A A A A A A Auf Anfrage Zwischenhdibe.
A A A A A A A Autres courses sur demande.
Bajo demanda carreras intermedias o superiores.
A A A A A A A A Cursos intermedidrios ou superiores sob encomenda.
A A A A A A A A A
A A A A A A A A A

19.141



Serie CG04

CG04 06

2 6 2-M3x 0.5 (air por)
3 J 1 /5, 105 (Max)
.
-+
B n
— Il w
0 ﬁjgf ©
w
3 65 2-M2.5 x 0.45 x3
2-M2.5 x 0.45 x 3
K 125
Stroke adjuster at extension end Stroke adjuster at retraction end
N-M3x 0.5 4 55 3
w0
o~
S @ i S
4-M2.5%0.45 % 3.5
2-M3x 0.5x5
+0.025
3H9 O x25 (N2-1)x F
0 5 M
S 0
o
_ g
)
o H o
- N
‘ z
D
7
(NN-1) x H
H a NN-M4 x 0.7 x 8
A B 11 55 1 55
— — ‘
H N
HH ‘
. ~ ~
- 1o O— @% S ] S
- HBH &
b2 D D) S <
S s
- D ) A-A B-B
3H9" x 25 HA GA
Stroke F G GA H HA 1 J K M N NN z 2z
10 20 6 11 25 20 10 17 22,5 42 4 2 41,5 48
20 30 6 21 35 20 10 27 32,5 52 4 2 51,5 58
30 20 11 31 20 20 7 40 42,5 62 6 3 61,5 68
40 28 13 43 30 30 19 50 52,5 84 6 3 83,5 920
50 38 17 41 24 48 25 60 62,5 100 6 4 99,5 106

19.142



Serie CG04

CG0408

2 7 2-M5x 0.8(air port)
35 | J | /6 9.5 (Max.)
< 7. 1)
©
—
2 b
o
NA-M3x 0.5 x 4
2-M3x0.5 x4

Stroke adjuster at extension end Stroke adjuster at retraction end

6.5 3.5

4-M3x0.5x4

23
40

2-M4x0.7x 6 F
N2 -1)x F
N-M3x 0.5x 5
g‘ 6 ‘F M ‘
N d N
LI 1
, D
I
77
(NN-1) ¢ H
H g NN-M4x 0.7 x 8
A B
= =
L U D 0 (&)
+0.025 PK I‘T3 A-A B-B
390 x3 A oA
Stroke F G GA H HA | J K KA M N NA NN 4 Y24
10 25 9 17 28 20 13 19,5 235 - 49 4 2 2 48,5 56
20 25 12 12 30 30 8,5 29 33,5 - 54 4 2 2 53,5 61
30 40 13 33 20 20 9,5 39 43,5 - 65 4 2 3 64,5 72
40 50 15 43 28 28 10,5 56 53,5 - 83 4 2 3 82,5 90
50 38 20 43 23 46 245 60 63,5 82,5 101 6 4 4 100,5 108
75 50 27 83 56 56 385 96 88,5 1325 151 6 4 5 150,5 158

19.143



Serie CG04

CG04 012

9 95 2-M4 x 0.7 x5 2-M5 x 0.8 (air port)
4.75 ‘ J | 8 11 (Max)
[re) -~ 0
S @ o3 \® G
IR =
iy tal B -0 Yl
[ ] © ®\ ﬁ%ﬁ‘ °°¢
K 585 NA-M4 x0.7x5
. . | XU./x
Stroke adjuster at extension end KA 185
9_,5
Stroke adjuster at retraction end
o 2 4-M4x 0.7x6
S == -
I— iy sl Y
— L W
: A
D D D
&
D .
S ® X
2-M5x0.8x8 F N-M4x 0.7x 5.5
00 16 (N/2-1)x F
P4H9 0 x 3.5
©
“ 8 M L%
s So
5, o
E
©
] ! &
D
Z
77
(NN-1) x H G
I NN-M5 x0.8 x10
17 10,
A B
-— -—
N N
I Uu Lele (UU+) 2
H o 2
I OM[1 " |Ok
VN W @ DLD) o —— ——
&9 Y V& b - — 3
i 1 JoFT |0
_/G) D I\\,}/l N / /
+0.03 |_.7 I—i
0 A A-A B-B
4H9 x3.5 HA GA B
Stroke F G GA H HA | J K KA M N NA NN Z zz
10 35 15 15 40 40 10 40 26,5 - 71 4 2 2 70 80
20 35 15 15 40 40 10 40 36,5 - 71 4 2 2 70 80
30 35 15 15 40 40 10 40 46,5 - 71 4 2 2 70 80
40 50 17 42 25 25 10 52 56,5 - 83 4 2 3 82 92
50 35 15 51 36 36 22 60 66,5 - 103 6 2 3 102 112
75 55 25 6T 36 72 43 85 91,5 1255 149 6 4 4 148 158
100 65 35 m 38 76 52 130 116,5 116,5 203 6 4 5 202 212

19.144



Serie CG04

CG04 0 16

3 11 2-M5x0.8x 5.5 2-M5 x 0.8 (air port)
5.5 ) J | 10 13.5 (Max.)
© —u | Nt
e e b .
b @ ' '
H— o o J—£3
B 4
o ] ’ ¥ 5 ]
e \—T':;C}FZZ g
5.5 10
NA-M5x0.8x 5.5
Stroke adjuster at extension end K 21
KA
12_6
Stroke adjuster at retraction end
> 4M5 x 0.8x7
o ] —
— . 1]
= T— 1
.
@ S © ©
N
© PN NN () o o
® A A =
O @ O\
2-MB x1x10 F 086
4003 21 (N/2-1) x F X D.eX
05H9 0 x4
© 10 M
o
[fe} =
8 : g
D
Z
77
(NN-1) xH G NN-M6x1 x12
H 24 10
A B
— —
{ uJ o uU | o
L= =
H o g s — |3
I ©L* ©]
H AN
(D) D@ o U
N2\ Y D
I 1/
- : ©
s e
+0.03 —
P5HIC x4 A B A-A B-B
HA GA
Stroke F G GA H HA | J K KA M N NA NN Z Y44
10 35 16 16 40 40 10 40 29 - 76 4 2 2 75 87
20 35 16 16 40 40 10 40 39 - 76 4 2 2 75 87
30 35 16 16 40 40 10 40 49 - 76 4 2 2 75 87
40 40 16 16 50 50 10 50 59 - 86 4 2 2 85 97
50 30 21 51 30 30 15 60 69 - 101 6 2 3 100 112
75 55 26 61 35 70 40 85 94 125 151 6 4 4 150 162
100 65 39 109 35 70 55 18 119 173 199 6 4 5 198 210
125 70 19 159 35 70 68 155 144 223 249 8 4 7 248 260

19.145



Serie CG04

CG04 0 20

2-M6 x 1x6.5

3 13 2-G1/8 (air port)

65 J I,12 14.5 (Max)

14 .8
Hl
(CARCR may
®
o
15

1 j o) -
O O 9 :
= A R
6.5 12 NA-M x 1x6.5
Stroke adjuster at extension end K 25

46.5 KA 18_,6
‘ Stroke adjuster at retraction end
, ‘IN - RN h o 6-M5x 0.8x 8
N B -} U
| 0® ] ‘
@ © © o
o | & @A L
@ & @
+ | FF
® ; 8
‘ O ©
| 7
2-MBx1x13 ‘ 2 F N-M5 x0.8x10
+0.03 N/2-1) x F
g5HOY x5 z V21 x
© 13 M
o
w0
@ H 3
7 D
7z
(NN-1) x H G
NN-M6 x 1x 12
H
A 2
H 5
6o N
NEZEC I\ D
—}_‘ o
o |IH | ©
P
— —
+0.03 A B - a
P5H9 ° x5 HA GA A-A B-B
Stroke F FF G GA H HA 1 J K KA M N NA NN z 7z
10 50 40 15 25 45 35 10 44 31 - 83 4 2 2 81,5 97
20 50 40 15 25 45 35 10 44 41 - 83 4 2 2 81,5 97
30 50 40 15 25 45 35 10 44 51 - 83 4 2 2 81,5 97
40 60 50 15 35 55 35 10 54 61 - 93 4 2 2 91,5 107
50 35 35 15 50 35 35 10 69 71 - 108 6 2 3 106,5 122
75 60 60 19 54 35 70 10 108 9 - 147 6 2 4 145,5 161
100 70 70 37 107 35 70 58 113 121 169 200 6 4 5 198,5 214
125 70 70 41 155 38 76 70 155 146 223 254 8 4 6 2525 268
150 80 80 19 195 44 88 87 190 171 275 306 8 4 7 304,5 320

19.146



Serie CG04

CG04 @ 25

2-M8 x1.25x8.5
4 16 2-G1/8 (air port)

8, J | 15 15.5 (Max)

|
> 94—
@
G/

H V¥
= "
cH 99 =
,,,,, 13
8 15
NA-M8 x 1.25 x8.5
K 31
Stroke adjuster at extension end KA
54.5 Stroke adjuster at retraction end 22 7
R F?\ X - ° 6-M6 x 1x 10
J de i o
5 ;% i
-t
o 6 ot
IS | DO D0 ) | o _r
A\ AN AN Y ©wl @
FF -
/| .
RS
2-M8x1.25x15 3 F N-M6 x 1 x13
30 (N/2-1)x F
+0.03
06HIO x6
© 15 M
o
3 &
D
A
Y24
(NN-1)x H G
y NN-M8 x1.25 x16
A B 34 13.5
R
H ABEEE
< - =
J— @ % o S o
uf\ Vs W 72\ Wan o _ T
Y OV W ;
1 !
s mE M
o —}—~ kL. |
L o v&@—F1 0
—
+0.03 A B
P6HI' x 6 HA GA A-A B-B
Stroke F FF G GA H HA | J K KA M N NA NN V4 Y24
10 50 40 22 22 45 45 12 47 35 - 92 4 2 2 90,5 108
20 50 40 22 22 45 45 12 47 45 - 92 4 2 2 90,5 108
30 50 40 22 22 45 45 12 47 55 - 92 4 2 2 90,5 108
40 60 50 22 22 55 55 12 57 65 - 102 4 2 2 100,5 118
50 35 35 20 55 35 35 12 70 75 - 115 6 2 3 13,5 131
75 60 60 26 61 35 70 33 90 100 - 156 6 2 4 154,5 172
100 70 70 32 102 35 70 50 114 125 162 197 6 4 5 195,5 213
125 75 75 40 154 38 76 67 155 150 218 255 8 4 6 2535 271
150 80 80 30 190 40 80 82 180 175 258 295 8 4 7 2935 311

19.147



Serie CG04

Componenti di fissaggio - Mounting Accessories - Befestigungszubehdr - Accessoires de fixation - Componentes de fijacién - Componentes para fixacdo

FINE CORSA SULL’ESTENSIONE

STROKE ADJUSTER AT EXTENSION END @ | Montati sul corpo -
HUBBEGRENZER AM AUSZUGSENDE Q\Aof“;”ifo body halll, I
uf den Kérper montiert B i
REGLAGE DE FIN DE COURSE ’ probositiur oukit N
AJUSTE DE CARRERA EN LA EXTENSION Montado en el cuerpo @
AJUSTE DE FIM DE CURSO Montado no corpo
Il | Montati al tavolo
Mounted to table 1
Auf den Tisch montiert E |
Monté sur la table =
Montado en la mesa hi.‘-ﬁ'#
Montado na mesa
Campo regolazione corsa
Adjustable stroke range [ ] |
Hub-Einstellbereich
Code (] Plage de réglage de la course
Rango de carrera ajustable
Curso de regulagem A B C D E F M P H 1 J Q
mm
CG04 006 SX05 6 5 6 17,8 10,5 16,5 7 2,5 M5x0,8  M2,5x10 12,5 6 85 M2,5x8
CG04 008 SX05 8 5 7 21,5 11 16,5 8 3 Méx1 M3x10 14,6 7 10 M3x10
CG04 012 SX05 12 5 9,5 31 16 20 " 4 M8x1 M4x16 18,5 10 13 M4x12
CG04 016 SX05 16 5 1 37 19 24,5 14 5 M10x1 M5x16 21 12 16,5 M5x16
CG04 020 SX05 20 5 13 47 24 27,5 17 6 M12x1,25  M6x20 25 13 21 M6x20
CG04 025 SX05 25 5 16 53,5 26,5 325 19 6 M14x1,5  M8x25 31 17 255 M8x25
D
FINE CORSA SUL RITORNO " ¢

STROKE ADJUSTER AT RETRACTION END
HUBBEGRENZER IN DER RUECKZUGENDPOSITION
REGLARE DE FIN DE COUSE DE RENTREE
AJUSTE DE CARRERA EN LA EXTENSION

®
o
FIM DE CURSO DE RETONO o () K g
g v
Campo regolazione corsa
Adjustable stroke range
Hub-Einstellbereich
Code (] Plage de réglage de la course A B C D E F G H J K
Rango de carrera ajustable
Curso de regulagem
mm
CG04 006 DX05 6 5 21 19 10,5 8 16,5 5 7 2,5 M2,5x8 M5x0,8
CGO04 008 DX05 8 5 25 22,5 12,5 9 16,5 6 8 3 M3x10 Méx1
CG04 012 DX05 12 5 32 31 18,5 13 20 8 12 4 M4x8 M8x1
CGO04 016 DX05 16 5 40 38,5 23 15 24,5 10 14 5 M5x10 M10x1
CGO04 020 DX05 20 5 50 48 29 21 27,5 12 17 6 M5x12 M12x1,25
CGO04 025 DX05 25 5 60 58 35 23 325 15 19 6 M6x16 M14x1,5

19.148



FINE CORSA SULL'ESTENSIONE PER DECELERATORE

STROKE ADJUSTER AT EXTENSION END FOR SHOCK ABSORBER
HUBBEGRENZER AM AUSZUGSENDE FUR STOBDAMPFER
REGLAGE DE FIN DE COURSE POUR AMORTISSEURS DE CHOC

AJUSTE DE CARRERA EN LA EXTENSION PARA AMORTIGUADORES
AJUSTE DE FIM DE CURSO PARA AMORTECEDORES

Montati sul corpo
Mounted to body

Auf den Kérper montiert
Monté sur le corps
Montado en el cuerpo
Montado no corpo

Serie CG04

c
a
Il | Montati al tavolo . ‘*:
Mounted to table 2= -b","r;a
Auf den Tisch montiert - H . -
Monté sur la table .
Montado en la mesa
Montado na mesa '
L -
Campo regolazione corsa
Adjustable stroke range [ ] | |
Hub-Einstellbereich
Code 2 Plage de réglage de la course
Rango de carrera ajustable
Curso de regulagem B C D E E1 F M pP* H J K L Q*
mm
CG04 008 SXA1 8 5 7 23 14 155 40,6 6 1 M8x1 M3x16 16,6 7 15,5 14,6 M3x16
CG04 012 SXA1 12 5 9.5 31 14,5 16 40,6 6 n M8x1 M4x16 20,52 10 15 18,5 M4x12
CG04 016 SXA1 16 5 1 37 17,5 19 47 7 13 M10x1 M5x16 23 12 18,5 21 M5x16
CG04 020 SXA1 20 5 13 455 235 26 67 12 19 M14x1,5  M6x25 27 13 25,5 25 M6x25
CGO04 025 SXA1 25 5 16 535 235 26,5 67 12 19 M14x1,5  M8x25 33 17 25,5 31 M8x25
Filetto testata esagonale della vite
Size of hexagon socket head cap screws
Innensechskant gewinde der schraube
Taille des vis a six pans creux
Rosca hexdgono interior
Hexdgono interno parafuso
FINE CORSA SUL RITORNO PER DECELERATORE [ ] montatidsul ;ordpo
STROKE ADJUSTER AT RETRACTION END FOR SHOCK ABSORBER ot dor Koo montiert (00
HUBBEGRENZER IN DER RUECKZUGENDPOSITION FUR STOBDAMPFER Monté sur le corps e W " ;

REGLARE DE FIN DE COUSE DE RENTREE POUR AMORTISSEURS DE CHOC
AJUSTE DE CARRERA EN LA EXTENSION PARA AMORTIGUADORES
FIM DE CURSO DE RETONO PARA AMORTECEDORES

Montado en el cuerpo
Montado no corpo

Il | Montati al tavolo

Mounted to table

% ! K M
Aufden Tisch montiert !
Monté sur la table
Montado en la mesa
Montado na mesa
H -
Campo regolazione corsa
Adjustable stroke range [ ] | |
Hub-Einstellbereich
Code ] Plage de réglage de la course
Rango de carrera ajustable
Curso de regulagem B C D E E1 F G J p* K L M N Q*
mm
CG04 008 DXAT1 8 5 38 23 12,5 14 38,5 6 8 12 M8X1 M3X12 16,6 7 15,5 14,6 M3x16
CG04 012 DXA1 12 5 45 31 18 14 385 6 8 1" M8X1 M4X8 20,5 10 15 18,5 M4x12
CG04 016 DXA1 16 5 55 37 235 16 45,5 7 10 13 M10x1 M5X10 23 12 18,5 21 M5x16
CG04 020 DXA1 20 5 70 47 29 23 67 12 12 19 M14x1,5  M5X12 27 13 25,5 25 Mé6x25
CG04 025 DXA1 25 5 80 54 35 23 67 12 15 19 M14X1,5 M6X16 33 17 255 31 M8x25

*
Filetto testata esagonale della vite

Size of hexagon socket head cap screws

Innensechskant gewinde der schraube
Taille des vis a six pans creux

Rosca hexdgono interior

Hexdgono interno parafuso

19.149



Serie SH

CARATTERISTICHE TECNICHE
TECHNICAL CHARACTERISTICS

TECHNISCHE ANGABEN

CARACTERISTIQUES TECHNIQUES
CARACTERISTICAS TECNICAS
CARACTERISTICAS TECNICAS

Temperature
m Temperatures
Temperatur
Températures
Temperaturas
Temperaturas
-10°C
i4+70°C
Filetto
Thrgad
SERIE gﬁg{;’g":
Rosca
Rosca

S H

SH Deceleratore
Shock Absorbers
StoBddmpfer
Amortisseurs de choc
Amortiguadore
Amortecedores

o

8

M8x1
M10X1
M14X1,5
M20X1,5

Filetto

Thread

Gewinde

Filetage

Rosca

Rosca

M8X1 - M10X1

: M14X1,5 - M20X1,5

Corsa
Stroke
Hub
Course
Carrera
Curso

mm

0 0 0 6

SHOCK ABSORBERS
STOBDAMPFER

AMORTISSEURS DE CHOC
AMORTIGUADORES
AMORTECEDORES

Corse Standard

Standard Strokes

Standardhub

Courses standards

Carreras Standard

Cursos Padrao

Velocita
Speed
Geschwindigkeit
Vitesse
Velocidad
Velocidade

2 standard Aignep

6-8-15-20mm

Varianti
Choices
Varianten
Options
Variantes
Variacées

= Senza Cappuccio

Without Cap
Ohne Puffer
Sans Capuchon
Sin Tope
Sem Tampa

C =Con Cappuccio
With Cap
Mit Puffer
Avec Capuchon
Con Tope
Com Tampa

19.150



SH

DECELERATORI SENZA CAPPUCCIO

SHOCK ABSORBERS WITHOUT CAP I

STOBDAMPFER OHNE PUFFER —r S
AMORTISSEURS DE CHOC SANS CAPUCHON . @ . i I i . - ‘
AMORTIGUADORES SIN TOPE v |
AMORTECEDORES SEM TAMPA ——
C D E
A
Etorj(a Velocita massima d'impatto (m/s)
I-;Zbe Maximum Impact Speed (m/s)
Maximale Aufschlaggeschwindigkeit (m/s)
Code CC:,U,ZS,Z Vitesse d'impact max (m/s) B € g E 7 @ G
Curso Velocidad mdxima de impacto (m/s)
T Velocidade mdxima de impacto (m/s)
SH 008 0006 2 M8x1 6 1,2 46,5 5 355 6 2,8 1" 3
SH 010 0008 2 M10x1 8 15 53,5 5 40,5 8 3 13 3
SH 0140015 2 M14x1,5 15 15 90 8 67 15 35 19 6
SH 020 0020 2 M20x1,5 20 2 114 9 85 20 5 26 8
SH C ™
DECELERATORI CON CAPPUCCIO o
SHOCK ABSORBERS WITH CAP —
STOBDAMPFER MIT PUFFER 4 . . - _
AMORTISSEURS DE CHOC AVEC CAPUCHON ®
AMORTIGUADORES CON TOPE —
AMORTECEDORES COM TAMPA
D E G
A
B
g:ria Velocita massima d'impatto (m/s)
Hgbe Maximum Impact Speed (m/s)
Code M Course Maximale Aufschlaggeschwindigkeit (m/s) A B c D E E G | CH H
Carrera Vitesse d'impact max (m/s)
Curso Velocidad mdxima de impacto (m/s)
. Velocidade mdxima de impacto (m/s)
SH 008 0006 2 C M8x1 6 1,2 46,5 55 5 355 6 28 8,5 6,5 " 3
SH 0100008 2 C M10x1 8 15 53,5 62 5 40,5 8 3 8,5 8,5 13 3
SH01400152C M14x1,5 15 15 90 102 8 67 15 35 12 12,2 19 6
SH 02000202 C M20x1,5 20 2 114 128 9 85 20 5 14 17,8 26 8

ApxaHrenbck (8182)63-90-72
Actana (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpag (4012)72-03-81
Kanyra (4842)92-23-67

BpsHck  (4832)59-03-52
BnapuBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHOypr (343)384-55-89
WBaHoBO (4932)77-34-06

KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

HaGepexHble YenHbl (8552)20-53-41
HwxHuit Hosropopa (831)429-08-12

HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
OMmck (3812)21-46-40

Open (4862)44-53-42
OpeHGypr (3532)37-68-04
MeHnsa (8412)22-31-16
KasaxcraH (772)734-952-31

MepMb (342)205-81-47
PocTtoB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13
TapxukucTtaH (992)427-82-92-69

https://aignep.nt-rt.ru/ || afp@nt-rt.ru

CypryTt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHoOBCK (8422)24-23-59
Yeba (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBey (8202)49-02-64
flpocnaBnb (4852)69-52-93


https://aignep.nt-rt.ru/
mailto:afp@nt-rt.ru



